El%‘ <
tn - 10 each question.

. ) swer "

Instructions: Each question has Four options. There is only one carrect a“:(;l-resl)onding cirele on
Choose the MOST APPROPRIATE Option and darken the ¢

the OMR Answer Sheet.

dettzll:  UAS sl AR [@sedl B, udls uayel) sq 05 o Al v D
539 A 112l 5. OMR 2il2-11 e{q?‘tlm :rjma gl sl B

1. 33:x=55:10 dlx=

Auiell Al fAseu wie

'.\'=55:10.T11enx=

1. 33
a1 11 @ 1
@ 8 . @ 8
@) 5 ' @ 5
b 6 ) 4 6
2. -adu: Rt " Bdl Sl waie s3). 2.  Choose pairs like:
«Cirele : Diameter”
(D) AR @ , ) (1) Radius : Diameter
@  (golows vl (2) Bisector : Angle
@  ugle: uRMmE 8 Quadrilateral : Perimeter
S Al : [asl (49 Rectangle : Diagonal
3. ol R MEA ol dAZ J2dlar e | 3. How many times did Shri. Narendra
qlut? Modi take oath as the Prime Minister
of India?
S 3ar (1) Three Times
2) 44dR (2 Four Times
3 Ssd4ar (3) Five Times
@) 24dRr 4 Two Times
4. d1Bd™i Usald W ol el (5403 | 4. Recently, ‘Cyclone Remal’ hit the coast
A12 R &d, BiL UsAldef =11 518 W12 &q? of Bengal. Who gave the cyclone name
‘Remal'?
1) didaire (1) Bangladesh
S e 2 Oman
(2) U5l (3) Pakistan
1) ¥YH4 (4 Yamen
5. A% qouaAMi %1 A = 2, M =26 ¥l | 5. In English alphabet, if we write A = 2
Z=52 8lddl BET=—— M=26andZ=52thenBET=——?,
AD 54 (1) 54
2) 64 2) 64
3 172 @ 72
4 44 4 44

STGP2A (D-2)



{s]
6.  Clldell MM «lPIRS Slal s&aiu?
(1) dsiudiel
2 uwuld
@)  Guauwuld
@ udla qrayfd
7.  Cllkde] itz Sl [6ad | saAMi i
&q?
(1) 20.01.1950
S2)  26.11.1949
(3 15.08.1950
(4 14.03.1949
8.  MPNR GUR S8 AWL igA AW B?
() RBI
J2 SEBI
(3) NSE
4 CI
9. [dHieiyei-l QAss ollaladisil Ardl Sefl WA
87
) ([quletuedl e
@  etiog el
B AR
@  yuapiHl
10.  {1A-iptiel >qloiq d16DI4 s18L 5y 82
1) wiilw-d
@ Sl
@) sloslwel
) slold sRRUSS
STGP2A

9.

10.

®-3)

Who is the first citizen of India?

(1) Prime Minister
(2) President

(3) Vice President
(4) Chief Justice

When was the Constitution of India
adopted?

(1) 20t January 1950
(2) 26t November 1949
(3) 15t August 1950
(4 14% March 1949

Name the organization which
regulates the stock market of India.

(1) RBI

(2) SEBI
(3 NSE
@ cCOo

Who has the authority to call a session
of Legislative Assembly?

(1) Speaker of State Assembly
(2) Deputy Chief Minister
(3) Governor

(4) Chief Minister

Which one of the following is the
reason for global warming?

(1) Oxygen

(2) Nitrogen

(3 Hydrogen

(4) Carbon Dioxide



[,
EI
1L

3

wsql g Aadl ¢ (Eualotell 24ef 2Nl

@ 1iled

o) B sl 529

®
@

oflM1R usq
¢ vldl

12, 2loeuys HI2 As 2o AlHl Yool €130

Wl uae

(&3]
&)
@

13. 39
o

)

®)

@

ard
dRIY
SHle

dOugl 2ots] (212 0y 20ldl .
yuq

2usq

2ug

ENCE

14. uild] %1sell k.
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18. uild] %Alseil eyl
(1) s6iwAld
@ yhu
3 @Qaquiaq

@ ANl

19. ‘udldl’ (IR ¥V 20lH) doyel 2oes.

1)  uéli
@ uely
@ Aws
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21, ‘Glldd’ Aoeell MR 2auiidl
(1) deygN
(2) Guue
S3)  veuquedl
@ A

22. <{1Aeil [Autetniell AA1oss 2Ald)-

wil Auetlel ez 584 3 WHIR dHIRA U9
uiq otefl'.
1 584
w2 3
@ wid
@ wi
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1 selea

©@ way

@ swfam
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(1) e K
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25. Al Byl AA qeL 531 R sd Hi
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(1) dus
(2 Gdlau
«4B3)  egld
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26. ‘513 usd’ w(Eualaeil 249 2lldl.

deiLfas 8y wqg

2 [Eudell s sat daR aq
(8) M&ed sdl

@) usle sl

27. ‘wviiell v & s8ddsll w4ef alHl-

Jb Rl pHiadl (&
2 aslwqg
3 %dweq
@ wwRYq

28. ‘udd 2oeeil AHtetLel oNHL

(1) wddl
@ €l
~3  usls
@ aal

29. (i(&R &q A WM 5A' (Qulei utifEd
(QANR UsIR 20,
(L AQaAS
@) elaqius
oB)  HIAARS
@  Adaubis

30. e aisdigdl MilBd  Acesfl  Asll
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(sl gy dla 8.
viD  qaudas
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3 elqaus
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51.

52.

53.

STGP2A

v

Choose the correct synonym of the
underlined word.

The flat has been refurbished recently.
(1) Painted

Renovated

(8) Repaired

(4) White-washed

Choose the word closest in meaning to
FRIVOLOUS'

() Dul

(2) Flippant
(3) Liberated
(4) Inert

Spot the error in the given sentence :

The stranger wanted to know
A B C
where 1 live.
D

(1) B

@ C

@ D

4 A

Spot the error in the given sentence :
My friend likes to travel from

A B
air since he is a very busy man.
C D
1) B
@2 C
3 D
4 A

55, Spobt

56.

57.

(D-8)

he erxor in the given sentence :

ot

A

Wﬂdm@_ﬁm

@ D

@ A

Choose the word closest in meaning to
FUNDAMENTAL

() Interval

(9 Intimate

3) Intrinsic

(49 Interspace

Choose the word opposite in meaning to

‘REPEL

(1) Attract
() Deny
(3) Oppose

(4 Slide



58. Choose the alternative which best | 61. Choose the word opposite in meaning to
expresses the nmeaning of the BELITTLE

underlined idiom. (1) Allure

(2) Entangle
Prices have risen, we must cut down

(3) Pity
our expenses. (4) Magnify
(1) Godown
A2 Reduce 62. Find out the antonym of ‘insipid’.
(3 Increase (1) Anguish
(2) Dull

(45 Cut into pieces
(3 Interesting

(4) Follow
59. Choose the appropriate meaning of the
idiom
63. Choose the correctly spelt word.

‘To fly off the handle’ (1) Subbaticle
(1) Tolose one’s temper (2) Subbatical
@ To be indifferent ' (3 Sabbatical

. . (4 Sabbaticle
(3 To act in a foolish way

(4 To dislocate

64. Choose the appropriate meaning of the
idiom

60. Choose the correctly spelt word.

‘Playing second fiddle’
(1) Seesmology (1) To show a foolish behaviour

¥2)  Seismology (2) To come later

(3) Seismaulogy (3) To be treated as less important
@ Sismology @ To play the musical instrument
for the second time

STGP2A D-9)



65. Fill in the blank with suitable | 68.

preposition

He killed two birds one
shot.

() with
¥ at

(3) from

4 on

66. Fill in the blank with correct form of

verb.

When the sun , birds come

out of their nests.

(1) rising
2 rises

3) hasrisen

(4) rnise

67. Choose the most appropriate word for
the given phrase

‘A statement that can have a double
meaning’

(1) Ambiguous

(2) Wordy

(3) Ambivalent

(4) Verbose

STGP2A (D-10)

69.

70.

Choose the most appropriate word for
the given phrase.

‘A small group of people who are
specially chosen and trained for a
particular purpose’

(1) Team

@) Clique

(8 Gang

(4 Cadre

Choose the alternative which can be
substituted for the given sentence.

A person who collects or studies stamps
(1) Pianist

(2) Philatelist

(3) Philanthropist

(4) Pioneer

Fil in the blank with suitable

preposition

Iam tired ————— walking.
(1) from

) with

"é)of

@ at
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71, BlB2-3S SR AUl ur Mol

&l 71. The sprocket-fed carbon copies can be

s aslA printed using

1) aAmBe Mo (1) Laser jet printer

@ Se-Adsu Meer (2 Dot - Matrix printer
@) s %Be MR (3) Ink jet printer

@ Wdls Hs U2 (4) Solid ink printer

7. <1l Higfl 84 CPU Ay gr2 Alger Al | 72, Which of the following can’t be directly

usiq «1¢fl? accessed by the CPU?

(1) DRAM (1) DRAM

@ &lSshks (2) Hard Disk

@ ROM ' (3 ROM

@ RAM 4 RAM

73. [l ——— SlaAsA B. 73. A Scanner is a/an ——————— device.

S By 1) Input

2 Wiy (2) Storage

(3)  9elye ¥ vy vid (3 Input and Output both

@ w6y @ Output

74. MS Excel aseileui «12uniell 58 2Mé s2 | 74. Which of the following shortcut keys

£l ol GUAAL A5 Slaua SIS AL HIR A can be used to hide a column in
D72 MS Excel worksheet?

(1) Ctl+9 (1) Ctrl+9

(2 Al+0 (@ Al+0

3 Alt+9 3 Alt+9

@) Ctrl+0 4 Ctrl+0

STGP2A (D-11)
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75.  «fl¥dl Ref=2 qidl
A : MS Excel a5 s gl 53 . il €35
asuys ui gell aseile Slu B.

B : Cells dq-(l 2Dawiiel slay d2r wd A
dd6R 4RI AY B,

GuretiHiell sul Ry UL B?

() 55 B
) AudBad
3  A¥d ByiYl 913y «&l
@) 55 A
76. MS Excel i Jaui 2sed sl
wqgyeeile2 5o Ad Sy 82
@ AR

@ AH AAlYes
3)  ARELSOS
@ A A4S

AlAetniell sy yYeie SR 32id ML

-1
=~

qial o Aui MidR 52 87
(1 Gye Yl
2) ALU

3 solaylie
4) oy ylde

78. <dlddmtiel 5o As  shwgeedl Wlaeily

dxqey teil?

(1) Adrsle

2) W4y
NG

(4) uele

79. MS afeile-dl ded] slamui g »1192?

(1) XYZ
\/2) XFD
(3 XZZ
4) 777

STGP2A

Consider the following statements :

75. Lo

: MS Ex
each Work
worksheets
Cells are ident.
Jetter and ther

Which of the above statements is/are

correct? I
1 Bonky
:‘,) Both A and B

(5) Neither A nor B
@ A only
76. By default, how text is aligned inside a

cell in MS Excel?
(1) Center

@ Right aligned
@ Justified
@ Leftaligned

cel creates workbooks ang
book may contain many

ified by the column

B: ow number

' Which unit converts computer data
into human readable form?

(1) Output unit
2 ALU
3) Control unit
4 Input unit
78. Which of the following is not a
Computer Programming Language?
(1) Javascript
(2) Prolog
() Linux
(4 Python

79. Which is the column in

MS Worksheet ?
(1) XYZ

() XFD
(3 Xzz
4 2777

last

(D-12)



EeE
w@1esS AUl ot B 2ZU sl
sadiell @Mdla 9 sda?

() fHax

@ A2 PhIEE]
J» e

() 32l Qs A2

Ms WordHi (@ A5 sal U2 «lA-idl
56 2Né-52 Sl auu 87
(1 F2
@ F9
S F1
@ F1

82, ollAeiell Sl 5321224 MIA% 58 H?

@ ¥R ey
2 ANyl

@ Hdlx

@ s AYA NI

83. Ms Wordell eePui olloiimtie]l 58 ettetii
ollefl (minimum) 248 {2 418 (maximum)
3M (zoom) UG A4S ?

(1) 20,250
A2 10,500
(3 10, 1000
@ 10, 100

84. ‘“startslide show group” <l “slide show tab"i
lAainief] 5] 2l Al Hadl <tefl?

(1) AwLdel

@ ddl

(3  sweHwss
(@) oilssi2 Relos 2l

STGP2A

80.

81,

83.

84.

D-13)

The ability to combine name and
addresses with a standard document is
called

(1) Form letters

(2) Document formatting
(3) Mail merge

(4) Database management

Which of the following shortcut keys is
used to check spelling in MS Word?

1 F2

2 F9

3 F7

4 F1

Which of the following is called as the
brain of a computer system?

(1) Operating System

(2) Central Processing Unit

(3) Monitor

(4 Random Access Memory

Which of the following are valid
minimum and maximum zoom sizes in
MS Word, respectively?

(O 20,250
(2 10,500
3 10, 1000
@ 10,100

Which of the following options is not
available on the slide show tab under
the start slide show group?

(1) From the beginning
(2) From the end

(@) Custom slide show
(4) Broadcast slide show



 2ldl ¥M (Autosum) «[1dsiel | 85. Autosum in MS Excel comes unge,
| Hl ¥

85. MS Exce puman i M5
st otel 20 1991?
24 ) Review
a
2) Data
@ @
@ S 9 Homs
,.
@ = (4) View

86. M Excel Mi «fld 4puietl A4 J21 A2 53¢ | 86. Consider the following data in ap
8.

MS Excel worksheet.
Cell Value Cell Value
B10 80 B10 80
Bl11 56 Bi1 56
B12 66 B12 66
B13 72 B13 72

iell Befl (Bud 60 s2di ay Sy A2 A

To count the number of values greater
HIR 1A=t 4iel s (@sey 1) B2

than 60, which one of the following is

correct?

AD  =count (B10:B13, >60) (1) =count (B10:B 13, >60)
(2) = count (>60) @) =count (>60)
(3) = countif(>=60) ® = countif(>=60)
(4) = countif (B10:B13, “>" &60)

4 = countif (B10:B13, “>” &60)

MS ExceBil “sort & filter” o{|Qeiiaijef] S|

87. In MS Excel, ‘sort and filter' comes
Aotat 264] 2419912 under which ribbon tab?
(1) suiay (1) Formulag
2)  WrquGe @) Page layout,
@) ?«aé ®) Insert
V4 3l @) Data
STGP2A
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88. The number of function keys on a
“keyboard is
W B ® 12
@ 7 ® 7
@ 1 ® 1n
S @ 15
g9. WBSRNE Aetpiiell 58 yafg 8964 | 89. Microsoft provides which one of the
Al B personal e-mail services?
M Biod () Gmail
\/‘2) ¥162gs (2) Outlook
@ [wi (8 Neo
@ AgHod (4  Yahoo mail
90. “AoL"¥2d 32 90. What is AOL?
(1) Wselle ¥lged (1) ASpreadsheet software
@ s Aotz AlsedR (20 AProject management software
o8 WlAp{l @0y ()  AProgramming language
@ oasa udy @ AnEmail service
91. HTTP Re5y s 91. The ‘HTTP stands for
A SRR 25 21K Waaa (1) Hyper Text Transfer Protocol
@ sluu 254 2ledtild WSl (2 Hyper Text Transport Protocol
@ sl g 21eudé NASE )  Hyper Terminal Transport
Protocol
@) s e i NAS ¢ Hyper Terminal Transfer Protocsl

STGP2A (0-18)



 @gm

93.

94.

MS Excel Mi “Alen- §| Sholldel SR
GuAAN{ Ay &7

(M s 52 s 412
2 DU 20y g R
@ 2120 wau

@ “view tab” HiwdI 42

—

MS Excel b2l i @ Bs A w4
slay syt sy wad?
\/(1) 5“‘. 2nd
(2) 3 g
@) 6% 3«
(4) 2nd . 5(!\

MS Excel Hi 9= (insert) Al Al AeAniedl
5L [Qseu S\ «tefl?

(CORN 1
Q@ AWy
3) SR
1) 2uq
95.  Ms WordHi WauLs Do “pedep 249 A~
20 Al Aaniiell Sef) 31391 il ofefl?
) WAy
@ ARy
@) 9334
1) uQq(Faiilep
96.  Ms Excel a52iloui A (Rowyel] &152 (height) 0
(zero) @il au i qy3 Al o,
(1), 407
2) 409
(3, 408
4 405
STGP2A

94.

(D - 1)

92.

93.

95.

96.

, binatioy
| the key com

S Excel,
In M

is used
‘AN 8 Y lection
ut the sele
@ Toc
)
8)]
@

To go t0 insert tab
To go to data job
To go to view tab

11 B5 of an MS Excel worksheet,
"rh'e c:f————-'- yowand ———
::sollninn of the worksheet.
0)]
@
6)]
@

5, 2
3, 6
6, 3¢
2“d : 5l||

Insert menu in MS Excel does not
include which of the following?

o))
@
@
@

Zoom
Sparkline
Tlustrations
Table

Indents and spacing tab under

paragraph menu in MS Word does not
include :

@
@
@
@

arrange
spacing
indentation
alignment

The row height from 0 (zero) to how

much maximym can be specified in an
MS Excel worksheet?

() 407
@ 409
@) 408
@) 405
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Lol A B2 97. Which of the following will keep data
7 intact even When the computer system
o el < G i8 turned.-offy
@ HuReds (D Hard Digk
@ B @)  Mother Board
@ RAM 3  Cache Memory
@ RAM
98. :Zéi: ;lsz, &4 Us let Ba) o)y ¥ 5ot 98. The Bar code reader, Touch pad, Touch
Screen and Joy stick are the examples of
@ B2y Baivy (1)  Output Devices
@ elvolls e () Hybrid computer
@ il shyer (3) Mini computer
wD  BelyR (Sas (4) Input Devices
99.  <llqatpiiefl S0 As Nyl Gapy ds 99. Which of the following is a Pointing
device?
@ Slwarem (1)  Digitizer
@ RAM 2 RAM
3 ALU ® ALU
v  MIGY 4 Mouse
100. <{RQeipiiell sy Shuyerd N20QSHAUG) | 100. Which of the following is the volatile
W3ey Baupy 2 storage device of a computer?
v() RAM M RAM
® ROM @ ROM
® CD-ROM g, CO-ROR
@ elSsks (9, Hard Disk
STGP2A ®@-1



